Slams - Blackwood and Quantitative

Board 1 4 QJ653
NorthDeas v —
None Vul ¢ AJ32
& Q732
a2 N & 987
v J1075 W E v 93
¢ K876 s ¢ Q1095
& J965 & K1084
o AK104
vy AKQ8642
¢ 4
& A
West North East South
Pass Pass 2a1
Pass 242 Pass 4NT3
Pass 544 Pass 745
All pass
1. 23+ HCP or equivalent playing
strength.

2. 8+ HCP and 5+ good spades
3. Blackwood
4. One ace
5. All four aces. Once trumps are drawn,
hearts will take care of North's |osers.
7 & by North
Made 7

North has enough for a positive 24 showing
at least five spades and 8+ points. South
knows that a spade slamislikely as once
trumps are drawn, hearts will take care of
North's losers. South asks about aces and
when North has one, South bids the grand
slam. North can draw al the trumps and then
set up the hearts with a ruff.

Slams - Blackwood and Quantitative

Board 2 Q64
East Dedls v 42
N-SVul ¢ 107653
% 1062
& K109 N 4 A83
v K863 W E vy AQ5
¢+ Q98 ¢ AK4
& KJ9 Sl . AQ73
& J752
v J1097
¢ J2
% 854
West North East South
2al Pass
2NT2 Pass 3NT? Pass
6NTA Pass Pass Pass
1. 23+ HCP or equivalent playing
strength.

2. 8+ HCP, no good 5 card suit.
3. 23-24 HCP balanced.
4. Combined 35-36 HCP.

6 NT by West
Lead: ¢ 5
Made 6

After East's 2 opening, West knowsit'sa
slam hand. But thereisno need to rush. 2NT
isgame forcing and 3NT shows a balanced
hand with 23-24 points. West's6 NT is
enough.



Slams - Blackwood and Quantitative

Board 3 o KQ3
SouthDeds v J
E-W Vul ¢ AKQ75

& AJ32
& 764 N 4 82
vy AK32 W £ vy 9754
¢ 986 ¢ 10432
+ 1065 S 4 0387

& AJ1095

v Q1086

¢ J

* KQ4
West North East South

1e

Pass 2¢1 Pass 292
Pass 4NT3 Pass 5¢4
Pass 645 All pass

1. 20 HCP opposite an opening hnd but
no need to rush. A non-jump new suit
response is 100% forcing.

2. Shows at least five spades.

3. Blackwood, knowing that thereis an
8+ spade fit.

4. One ace.

5. Just one missing ace

64 by South
Lead: v A
Made 6

Holding 20 points North knows that, with 32+

points in the two hands, aslam islikely.
North just bids 2 ¢ which isforcing. South's

2 v rebid confirmsthat South has at |east five

spades so North asks for aces, to check that

there are not two quick losers. 5¢ showsone

ace and North bids 6 & .

Slams - Blackwood and Quantitative

Board 4 4 1098
West Deals v 4
Both Vul ¢ 853
& 1098753
& AQJ N 4 K76
vy KJ72 W e vy AQ10653
¢ A74 ¢ KQ2
4 KQ2 S . A
& 5432
v 98
¢ J1096
& J64
West North East South
2NT? Pass 7NT? All pass
1. 20-22 HCP

2. Knowing that the partnership has at |east
38 HCP. 7 NT scores better than 7 v .

7NT by West
Lead: ¢ 8
Made 7

Since East has 18 points oppositea2 NT
opening he knows that West must have the
two missing aces and kings without using
Blackwood.



Slams - Blackwood and Quantitative

Board 5 & KJ3
NorthDeals v K3
N-Svul ¢ AQJ753
® Q5
4 876 N & 1092
v J10754 W v Q2
¢ 1084 ¢ 96
& 102 Sl . AJ0876
4 AQ54
vy A986
¢+ K2
® K43
West North East South
1e Pass lv
Pass 3¢l Pass 4NT?
Pass 543 Pass 6NT4
All pass

1. 16-18 HCP and 6+ diamonds
2. Blackwood
3. One ace
4. 6 NT scores better than 6 ¢ .
6 NT by South
Lead: v J
Made 6

North's3 ¢ shows 16-18 HCP and 6+
diamonds.

South knows they have 32- 33 HCP between
them and uses Blackwood to check they are
not missing two aces. 6 NT scores better than
6¢.

Declarer winswith ¥ A, and has 12 tricks.

Slams - Blackwood and Quantitative

Board 6 & A95
East Deals vy 9764
E-W Vul ¢+ QJ109

& 76
s 4 N & KQ6
vAQ1083 N v KJ2
¢ 64 ¢ AK752
& AKQ93 s XY

4 J108732

v5

¢ 83

& J1054
West North East South

1le Pass
1v Pass INT?L Pass
3a2 Pass 3v3 Pass
4ANT# Pass 545 Pass
6v6 All pass
1. 15-16 HCP

2. Gameforcing

3. Delayed 3 card heart support

4. Blackwood

5. One ace

6. Just one ace missing
6 v by West
Lead: ¢ Q
Made 6

East'srebid of 1 NT shows 15-16. West bids
their second suit. East's 3 ¥ shows 3 card
heart support. West has 15 HCP and 3
shortage points opposite partner's 15+ HCP so

has the values for slam. West

uses Blackwood

to check they are not missing 2 aces.

Declarer should win ¢ A and

play # A and

& K. Now ruff aclub with the v Jthen draws

trumps
starting with the v K.



Slams - Blackwood and Quantitative

Board 7 o K6
SouthDeals v A10965
Both Vul ¢ K108

& KJ6
 QJ109 N & 75432
v 3 W £ v 872
¢ J764 ¢ A953
#9542 S .3

o A8

vy KQJ4

¢+ Q2

* AQ1073
West North East South

1&

Pass 1lv Pass 491
Pass 4NT? Pass 5v3
Pass 6v4 All pass

1. 19+ pointsincluding shortage
2. Blackwood
3. Two aces
4. Just one ace missing.
6 v by North
Lead: ¢ A
Made 6

South's rebid of 4 ¥ shows 4-card heart
support and 19+ points including shortage.
Thisis astraightforward hand to play. Draw
trumps immediately.

Slams - Blackwood and Quantitative

Board 8 & 82
West Deals v 754
None Vul ¢ 10432
& K872
& KQ5 N o AJI10
v KJ W e v Q10982
¢ AKQJ = ¢ 765
& AJ43 * Q5
97643
vy A63
¢ 98
& 1096
West North East South
28 Pass 2vl Pass
2NT? Pass 4NT3 Pass

6NT# All pass
1. 8+ HCP and 5+ hearts
2. 23-24 HCP balanced; no 3-card heart
support
3. Quantitative slam try
4. Maximum (24 HCP)
6 NT by West
Lead: # 8
Made 6

East has 9 HCP. If partner has 24 HCP then a
combined 23 HCP isjust enough for 6 NT to
have good chances.



Slams - Blackwood and Quantitative

Board 9 & KJ10532
NorthDeals v K8
E-W Vul ¢+ KQ
& KJ8
& 876 N e 4
v Q95 W E v J10643
¢ J107654 ¢ 832
&5 =Bl . 10932
 AQ9
vA72
¢ A9
# AQ764
West North East South
1e Pass 2%
Pass 3al Pass 4NT2
Pass 5&3 Pass 5NT4
Pass 6 #° Pass 7NTS
All pass
1. 16-18 HCP and 6+ spades
2. Blackwood.
3. No aces, as expected.
4. King asking

5. 0 or 4 kings. Must be 4.
6. South can count 13 tricks.
7NT by South
Lead: ¥ 5
Made 7

North'srebid of 34 shows 16-18 with 6+
spades. Although South has all 4 aces they
must

still use Blackwood asking for aces before
they can use 5 NT to ask for kings.
Because South has all the aces, North must
have all the kings with their 6 # response.
South can count 13 tricks so can bid 7 NT

Slams - Blackwood and Quantitative

Board 10 & 82
East Deals vy 9754
Both Vul ¢ 10432

& 987
4 KQ5 N 4 AJ109
v AJ2 W v Q1086
¢ AKQ7 ¢ J5
& 432 S . KQJ

& 7643

vy K3

¢ 986

® A1065
West North East South

INT Pass

4ANT? Pass 6NT? All pass

1. Quantitative;asking partner to bid 6 NT
if maximum, otherwise pass.
2. Maximum so accepts the invitation.
6 NT by East
Lead: ¢ 8
Made 6

Declarer has nine top tricks. Two more tricks
can be made in clubs (by force). Declarer
must finesse in hearts by leading to dummy's
v J. Fortunately South holdsthe v K.

If North held the ¥ K then declarer would
have to hope that North will not lead a club,
which would defeat the contract. Any other
lead would allow declarer to make three heart
tricks.



Slams - Blackwood and Quantitative

Slams - Blackwood and Quantitative

Board 11 o AJI10
SouthDeds v KQ8
None Vul ¢ J652
& Q52
s 82 N 4 97643
v 109754 W e v A63
¢ 1043 ¢ 98
%987 S . K106
& KQ5
vJ2
¢ AKQ7
& AJ43
West North East South
2NT?
Pass 6NT? All pass
1. 20-22 HCP balanced (ish).
2.13-14 HCP
6 NT by South
Lead: # 8
Down 1

Bad luck!! 33 combined points, usually
enough to make 6 NT. Here East is on lead
and will take two heart tricks off the top. On

any other lead North can take 12 tricks off the

top.

Board 12 & KQ5
West Deals vJ2
N-SVul ¢ AKQ7
& AJ43
4 97643 N 4 82
v A63 W £ v 109754
¢ 98 ¢ 1043
& K106 Sl . 0387
o AJI10
vy KQS8
¢ J652
& 952
West North East South
Pass 2NT Pass 4NT?
Pass Pass? Pass

1. Quantitative; if partner is maximum (22
HCP) then the combined 33 HCP
should make 6 NT.

2. Minimum so declines the invitation.

4NT by North
Lead: # 8
Made 4

Declarer can count 8 top tricks. Two more
trickswill comein heartsoncethev A is
driven out.
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[Event "Slams - Blackwood and Quantitative"]

[Site ""]

[Date ""]

[Board "1"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "None"]

[Deal "N:QJ653..AJ32.Q732 987.93.QT95.KT84 AKT4.AKQ8642.4.A 2.JT75.K876.J965"]

[Scoring ""]

[Declarer "N"]

[Contract "7S"]

[Result "13"]

{









North has enough for a positive 2\S showing at least five spades and 8+ points.

South knows that a spade slam is likely as once trumps are drawn, hearts will

take care of North's losers. South asks about aces and when North has one,

South bids the grand slam. North can draw all the trumps and then set up the

hearts with a ruff.}

[BCFlags "1f"]

[Auction "N"]

Pass Pass 2C =1= Pass

2S =2= Pass 4NT =3= Pass

5D =4= Pass 7S =5= AP

[Note "1:23+ HCP or equivalent playing strength."]

[Note "2: 8+ HCP and 5+ good spades"]

[Note "3: Blackwood"]

[Note "4: One ace"]

[Note "5:All four aces. Once trumps are drawn, hearts will take care of North's losers."]



[Event "#"]

[Site ""]

[Date ""]

[Board "2"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "NS"]

[Deal "E:A83.AQ5.AK4.AQ73 J752.JT97.J2.854 KT9.K863.Q98.KJ9 Q64.42.T7653.T62"]

[Scoring ""]

[Declarer "W"]

[Contract "6NT"]

[Result "12"]

{







After East's 2\C opening, West knows it's a slam hand. But there is no need to

rush. 2NT is game forcing and 3NT shows a balanced hand with 23-24 points.

West's 6NT is enough. }

[BCFlags "1f"]

[Auction "E"]

2C =1= Pass 2NT =2= Pass

3NT =3= Pass 6NT =4= Pass

Pass Pass

[Note "1: 23+ HCP or equivalent playing strength."]

[Note "2: 8+ HCP, no good 5 card suit."]

[Note "3: 23-24 HCP balanced."]

[Note "4: Combined 35-36 HCP. \n"]

[Play "N"]

D5



[Event "#"]

[Site ""]

[Date ""]

[Board "3"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "EW"]

[Deal "S:AJT95.QT86.J.KQ4 764.AK32.986.T65 KQ3.J.AKQ75.AJ32 82.9754.T432.987"]

[Scoring ""]

[Declarer "S"]

[Contract "6S"]

[Result "12"]

{





Holding 20 points North knows that, with 32+ points in the two hands, a slam is

likely. North just bids 2\D which is forcing. South's 2\H rebid confirms that 

South has at least five spades so North asks for aces, to check that there are

not two quick losers. 5\D shows one ace and North bids 6\S. }

[BCFlags "9f"]

[Auction "S"]

1S Pass 2D =1= Pass

2H =2= Pass 4NT =3= Pass

5D =4= Pass 6S =5= AP

[Note "1: 20 HCP opposite an opening hnd but no need to rush. A non-jump new suit response is 100% forcing."]

[Note "2: Shows at least five spades."]

[Note "3: Blackwood, knowing that there is an 8+ spade fit."]

[Note "4: One ace."]

[Note "5: Just one missing ace"]

[Play "W"]

HA



[Event "#"]

[Site ""]

[Date ""]

[Board "4"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "All"]

[Deal "W:AQJ.KJ72.A74.KQ2 T98.4.853.T98753 K76.AQT653.KQ2.A 5432.98.JT96.J64"]

[Scoring ""]

[Declarer "W"]

[Contract "7NT"]

[Result "13"]

{







Since East has 18 points opposite a 2NT opening he knows that West must have

the two missing aces and kings without using Blackwood. }

[BCFlags "9f"]

[Auction "W"]

2NT =1= Pass 7NT =2= AP

[Note "1: 20-22 HCP"]

[Note "2: Knowing that the partnership has at least 38 HCP. 7NT scores better than 7\H."]

[Play "N"]

D8



[Event "#"]

[Site ""]

[Date ""]

[Board "5"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "NS"]

[Deal "N:KJ3.K3.AQJ753.Q5 T92.Q2.96.AJ9876 AQ54.A986.K2.K43 876.JT754.T84.T2"]

[Scoring ""]

[Declarer "S"]

[Contract "6NT"]

[Result "12"]

{







North's 3\D shows 16-18 HCP and 6+ diamonds.\n

South knows they have 32- 33 HCP between them and uses Blackwood to check they

are not missing two aces. 6NT scores better than 6\D. 



Declarer wins with \HA, and has 12 tricks.}

[BCFlags "1f"]

[Room "Open"]

[Auction "N"]

1D Pass 1H Pass

3D =1= Pass 4NT =2= Pass

5D =3= Pass 6NT =4= AP

[Note "1: 16-18 HCP and 6+ diamonds"]

[Note "2: Blackwood"]

[Note "3: One ace"]

[Note "4: 6NT scores better than 6\D."]

[Play "W"]

HJ



[Event "#"]

[Site ""]

[Date ""]

[Board "6"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "EW"]

[Deal "E:KQ6.KJ2.AK752.82 JT8732.5.83.JT54 4.AQT83.64.AKQ93 A95.9764.QJT9.76"]

[Scoring ""]

[Declarer "W"]

[Contract "6H"]

[Result "12"]

{





East's rebid of 1 NT shows 15-16. West bids their second suit. East's 3\H shows

3 card heart support. West has 15 HCP and 3 shortage points opposite partner's

15+ HCP so has the values for slam. West uses Blackwood to check they are not

missing 2 aces.



Declarer should win \DA and play \C A and \CK. Now ruff a club with the \HJ

then draws trumps\n

starting with the \H K.









}

[BCFlags "1f"]

[Room "Open"]

[Auction "E"]

1D Pass 1H Pass

1NT =1= Pass 3C =2= Pass

3H =3= Pass 4NT =4= Pass

5D =5= Pass 6H =6= AP

[Note "1: 15-16 HCP"]

[Note "2: Game forcing"]

[Note "3: Delayed 3 card heart support"]

[Note "4: Blackwood"]

[Note "5: One ace"]

[Note "6: Just one ace missing"]

[Play "N"]

DQ



[Event "#"]

[Site ""]

[Date ""]

[Board "7"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "All"]

[Deal "S:A8.KQJ4.Q2.AQT73 QJT9.3.J764.9542 K6.AT965.KT8.KJ6 75432.872.A953.8"]

[Scoring ""]

[Declarer "N"]

[Contract "6H"]

[Result "12"]

{







South's rebid of 4\H shows 4-card heart support and 19+ points including

shortage. \n

This is a straightforward hand to play. Draw trumps immediately.



.}

[BCFlags "1f"]

[Room "Open"]

[Auction "S"]

1C Pass 1H Pass

4H =1= Pass 4NT =2= Pass

5H =3= Pass 6H =4= AP

[Note "1: 19+ points including shortage"]

[Note "2: Blackwood"]

[Note "3: Two aces"]

[Note "4:Just one ace missing."]

[Play "E"]

DA



[Event "#"]

[Site ""]

[Date ""]

[Board "8"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "None"]

[Deal "W:KQ5.KJ.AKQJ.AJ43 82.754.T432.K872 AJT.QT982.765.Q5 97643.A63.98.T96"]

[Scoring ""]

[Declarer "W"]

[Contract "6NT"]

[Result "12"]

{









East has 9 HCP. If partner has 24 HCP then a combined 23 HCP is just enough for

6NT to have good chances. }

[BCFlags "1f"]

[Auction "W"]

2C Pass 2H =1= Pass

2NT =2= Pass 4NT =3= Pass

6NT =4= AP

[Note "1: 8+ HCP and 5+ hearts"]

[Note "2: 23-24 HCP balanced; no 3-card heart support"]

[Note "3: Quantitative slam try"]

[Note "4: Maximum (24 HCP)"]

[Play "N"]

S8



[Event "#"]

[Site ""]

[Date ""]

[Board "9"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "EW"]

[Deal "N:KJT532.K8.KQ.KJ8 4.JT643.832.T932 AQ9.A72.A9.AQ764 876.Q95.JT7654.5"]

[Scoring ""]

[Declarer "S"]

[Contract "7NT"]

[Result "13"]

{







North's rebid of 3\S shows 16-18 with 6+ spades. Although South has all 4 aces

they must\n

still use Blackwood asking for aces before they can use 5 NT to ask for

kings.\n

Because South has all the aces, North must have all the kings with their 6 \C

response. South can count 13 tricks so can bid 7 NT}

[BCFlags "1f"]

[Room "Open"]

[Auction "N"]

1S Pass 2C Pass

3S =1= Pass 4NT =2= Pass

5C =3= Pass 5NT =4= Pass

6C =5= Pass 7NT =6= AP

[Note "1: 16-18 HCP and 6+ spades"]

[Note "2: Blackwood."]

[Note "3: No aces, as expected."]

[Note "4: King asking"]

[Note "5: 0 or 4 kings. Must be 4."]

[Note "6: South can count 13 tricks."]

[Play "W"]

H5



[Event "#"]

[Site ""]

[Date ""]

[Board "10"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "All"]

[Deal "E:AJT9.QT86.J5.KQJ 7643.K3.986.AT65 KQ5.AJ2.AKQ7.432 82.9754.T432.987"]

[Scoring ""]

[Declarer "E"]

[Contract "6NT"]

[Result "12"]

{







Declarer has nine top tricks. Two more tricks can be made in clubs (by force).

Declarer must finesse in hearts by leading to dummy's \HJ. Fortunately South

holds the \HK. 



If North held the \HK then declarer would have to hope that North will not lead

a club, which would defeat the contract. Any other lead would allow declarer to

make three heart tricks. 

}

[BCFlags "1f"]

[Auction "E"]

1NT Pass 4NT =1= Pass

6NT =2= AP

[Note "1: Quantitative;asking partner to bid 6NT if maximum, otherwise pass."]

[Note "2: Maximum so accepts the invitation."]

[Play "S"]

D8



[Event "#"]

[Site ""]

[Date ""]

[Board "11"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "None"]

[Deal "S:KQ5.J2.AKQ7.AJ43 82.T9754.T43.987 AJT.KQ8.J652.Q52 97643.A63.98.KT6"]

[Scoring ""]

[Declarer "S"]

[Contract "6NT"]

[Result "11"]

{







Bad luck!! 33 combined points, usually enough to make 6NT. Here East is on lead

and will take two heart tricks off the top. On any other lead North can take 12

tricks off the top. }

[BCFlags "1f"]

[Auction "S"]

2NT =1= Pass 6NT =2= AP

[Note "1:20-22 HCP balanced (ish)."]

[Note "2:13-14 HCP"]

[Play "W"]

C8



[Event "#"]

[Site ""]

[Date ""]

[Board "12"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "NS"]

[Deal "W:97643.A63.98.KT6 KQ5.J2.AKQ7.AJ43 82.T9754.T43.Q87 AJT.KQ8.J652.952"]

[Scoring ""]

[Declarer "N"]

[Contract "4NT"]

[Result "10"]

{







Declarer can count 8 top tricks. Two more tricks will come in hearts once the

\HA is driven out. 



}

[BCFlags "1f"]

[Auction "W"]

Pass 2NT Pass 4NT =1=

Pass Pass =2= Pass

[Note "1: Quantitative; if partner is maximum (22 HCP) then the combined 33 HCP should make 6NT."]

[Note "2: Minimum so declines the invitation."]

[Play "E"]

S8

�

